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#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 NS: FaaBl M (BH0) 0 5 NS: Z30&E SBEER(BAC) -13 VP:| 11.50 : 8.50 | Total VP: 11.50 Rank:
EW: BEHESE & EI0) 13 EW: FEE FE#E(B0) 0 IMP:| 25 21 8
_—
#1 a7 3NS3 400 Mean: 6DNG6 920 7.0 8 |[[|#2 s K8 4HN4 620 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 920 630  6CN6 920 7.0 2 v AJ3 5HS-1-100 250  4HN4 620 9.0 3
+ AJ63 Dif: -520 NS:-6 5DNG6 420 50 3 + 964 Dif: 720 NS:9 3HS4 170 2.0 1
» KJ92 IMP: -11 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 12 EW:8 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 » 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I v T5 2883 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NE3 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 -630 -550 3NW4 630 -20 8 v 7432 3NE3 -600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S§ ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 3NE3 -400 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 400 Mean: 3NS3 400 70 1
vT9 3NE3 -400 -110  3NE-2 100 50 1 v AK6 3NN3 400 130  3NN4 430 7.0 1
« KJ863 Dif: 0 NS:-7 3NW-1 50 40 2 + Q86 Dif: 0 NS:7 3NN3 400 7.0 5
» K9 IMP: 0 EW:7 3NE-1 50 40 4 » QT9 IMP: 0 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v Q854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-2 -200 250  4HN5 650 9.0 1 v6 6DS7 940 1070  7DN7 1440 9.0 1
¢+ AK Dif: 820 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
9 IMP: 13 EW:10 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 3NN5 460 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 150 Mean: 3NN7 720 9.0 1
v A3 4SN5 450 440  5SS5 450 0.0 1 v AK93 3NS3 600 350 3NS5 660 7.0 1
¢ 874 Dif: 10 NS:1  5SN5 450 00 1 + K Dif: -450 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -10 EW:-6 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 »Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~
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#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 NS: ZA 2 GHO) -14 2 NS: BRZSF JLRM(BAC) 16 VP:| 3.22 16.78 | Total VP: 14.72 Rank:
EW: BEHEE £52EA0) -16 EW: [R#R BR#I<F(BO) 14 IMP:| 8 32 13
—
# 11 85 3NE-150 Mean: 3NE-4 200 40 1 # 12 » Q972 3NS4 630 Mean: 4SN4 620 7.0 1
v KT652 2NE-4200 60  2NE-4 200 40 1 v AQ42 3NS4 630 320 3NS4 630 7.0 3
¢ A92 Dif: -150 NS:0 3NE-3 150 3.0 1 + Q3 Dif: 0 NS:7 3NS3 600 7.0 6
» 975 IMP: -4 EW:-4 2SW-3 150 3.0 1 & Q85 IMP: 0 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 3HS3 140 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3NN-3 -150 Mean: 3CS3 110 7.0 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3DW3 -110 -190  4HW-1 50 60 1
¢ Ad43 Dif: -480 NS:-4 4HN4 620 80 1 + QJ65 Dif: -40 NS:1  3HW-1 50 60 1
& K975 IMP: -10 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: -1 EW:-2 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXW6 -650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 -300 Mean: 4HW-2 200 10.0 2
v AJ653 2NN-1 -100 -340  3HN-1 100 6.0 1 v3 4SE4 -620 -260 3CN3 110 9.0 1
* K Dif: -550 NS:-7 3DN-1 100 6.0 1 ¢ KT74 Dif: 320 NS:-1  4HW-1 100 80 2
& AK98 IMP: -11 EW:-6 3CS-1 100 6.0 1 & KJT865 IMP: 8 EW:8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 3SS5200 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 -430 Mean: 4SXN4 790 140 1
v K75 4SS5450 380 3NS4 430 20 1 v J4 3NE4 -430 -240 4DW-1 50 70 1
¢ T873 Dif: -250 NS:-5 4SS4 420 1.0 10 ¢ 7642 Dif: 0 NS:-5 3NE-1 50 70 3
& Q53 IMP: -6 EW:-2 4HS4 420 10 1 &2 IMP: 0 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HWS5 -650 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 3NE5 -660 -520  3HW3 140 9.0 1
* Ad Dif: 0 NS:4 4HN4 420 40 8 + AQ9652 Dif: 10 NS:-4 2HW4 170 8.0 1
» 98 IMP: 0 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:4 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1
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#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 NS: BREFE £F22(BH0) -4 7 NS: E{&{& 8154 (FAC) 12 VP: 6.00 14.00 | Total VP: 20.72 Rank:
EW: Fasit S8 EAC) -12 EW: HER B5Ei5(50) 4 IMP:| 7 19 15
I e —————————— -
# 21 » KT74 3NW4 -430 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3SW-1100 Mean: 4SW-2 200 50 1
v T96 6DE-3150 -230  2HW-1 50 70 1 v Q73 3HS3140 10  3HS3 140 40 2
¢ QT Dif: -580 NS:-5 3DE3 410 3.0 1 ¢ 96532 Dif: -40 NS:3 4SW-1 100 30 1
» T843 IMP: -11 EW:-9 2HW2 110 3.0 3 » J87 IMP: -1 EW:-4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HE5 -650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 48S-1-50 Mean: 4SS4 420 9.0 1
v K9 4HE5 -650 -530  2NE2 120 9.0 1 v QJT 25S3140 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-3 3HE4 170 80 1 7 Dif: -190 NsS:-3 3SS3 140 30 1
& AQ75 IMP: 0 EW:3 2HE4 170 80 2 & AK963 IMP: -5 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 -650 Mean: 4SE-1 100 120 1 # 26 & A32 1SE1 -80 Mean: 1NW-2 200 70 1
v AQJ2 4SE5 -650 -600 4Sw4 620 1.0 4 v 85 2HW3 -140 -90  1SE-1 100 50 1
« KJ8654 Dif: 0 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: 60 NS:0 1NW-1 100 50 2
» K98 IMP: 0 EW:2 4SW5 650 20 1 & QT973 IMP: 2 EW:2 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW3 -400 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HE-1 50 Mean: 4HW-1 50 60 1
v QT62 3NE4 -430 -420 3NW4 430 0.0 13 v JT 2SW2 -110 -180  4HE-1 50 60 2
+ A976 Dif: 30 NS:1  3NE4 430 00 2 ¢ T75 Dif: 160 NS:6 2SW-1 50 60 1
&4 IMP: 1 EW:0 & AT864 IMP: 4 EW:-2 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
% ¢V ABN o854 FeVAN o, QJ8 3HE4 470 0.0 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 92 2HE4 4170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SE4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN6 690 630  3NN5 660 1.0 v Q975 4SE4 -420 -380 3SE4 470 50 1
¢ T963 Dif: -60 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: -2 EW:-2 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54
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1 NS: #Ei ﬁ%él‘i@(ﬁﬁm 28 3 NS: nﬂﬂﬁﬂﬂﬂ BRE ¥ﬁ(F>ﬁC) -24 VP:| 19.10 : 090 Total VP: 39.82 Rank:
EW: PR E55EEI0) 24 EW: 8§3038 PEIRER(BAO) -2 IMP:| 42 3 10
S — I —
#1 » Q74 3CN-2 -100 Mean: 2HS2 110 7.0 1 [[#2 » AJ97 3DE-1 50 Mean: 5CN5 600 11.0 1
v J8 3NW3 -400 -200 2HS-1 50 40 1 v AT7 2NS-1-100 90  4SN4 620 11.0 1
¢ J3 Dif: 300 NS:3 3DE3 110 3.0 4 + 983 Dif: 150 NS:-1 1NE-4 200 3.0 1
& KQT874 IMP: 7 EW:5 3CS-2 4100 3.0 1 » K82 IMP: 4 EW:5 5DE-3 150 2.0 1
& AK8 #» T63 3CN-2 4100 3.0 1 T53 #» K86 4CN5 150 2.0 2
v QT64 v2 3HS-3 150 2.0 3 ||e K9864 I v5 2HE-3 150 2.0 1
+ A86 * KT9542 3DE4 4130 20 1 ||e KJ4 3 QT7652 3DE-1 50 1.0 7
& J95 » A62 3CN-3 4150 20 1 ||s Q6 » A74 3SN-1 100 -5.0 1
%+ VBN 4 J952 3NN-5 250 -20 1 o eVAN 4, Q42 2SN-1 4100 -50 1
N 1~~~ ~ ¢ AK9753 3NW3 400 -50 2|IN 5~331 » QJ32 2NS-1 100 -5.0 1
S 1~1~~ ¢Q7 4HXS-3 500 70 1(||S 5~331 A 4SN-3 300 9.0 1
E ~4~~3 &3 4HXS-4 800 -120 1 ||E ~1 ~~ ~ & JT953
W~4~~3 W ~1~~~
#3 » 86 3HW-1 100 Mean: 4HXW-1 200 7.0 1 ||# 4 » AQ 6DN6 1370 Mean: 6NN6 1440 110 3
v QJ64 4HW-1100 -70  4HW-1 100 50 6 v AKJ9 3NN6 690 910 6DS6 1370 100 2
¢ A43 Dif: 0 NS:5 3NE-1 100 50 1 ¢ KT3 Dif: 680 NS:10 6DN6 1370 100 2
& T763 IMP: 0 EW:-5 3HW-1 100 50 1 & KJ94 IMP: 12 EW:6 6CS6 1370 100 1
& AQ53 a J7 2NN-2 100 1.0 1 ||a JT953 ~ K87642 6CN6 1370 100 4
v AKT975 v 32 3HW3 140  -20 1 ||e Q8654 + v T72 3NN6 690 6.0 1
* K6 ¢ T9752 2HW3 140 -20 1 ||e5 ¢ J74 6CS-1 100 140 1
& K & A985 3HW4 470 -30 2 ||s 76 aA 7NXN-1 200 -15.0 1
% ¢V BN 4 KT942 2HW4 470 -3.0 2 FOVAN , 7CXN-1 200 -150 3
N ~~~~~ v8 4HW4 620 110 2[IN 56 ~~6 ¢3
S 1~~~~ ¢QJ8 S 56 ~~4 ¢ AQ9862
E ~32~1 &QJ42 E ~~~~~ & QT8532
W ~33~1 W ~ ~~~~
#5 a4 T8 4SS5 650 Mean: 4SS5 650 20 4 (|#6 s J7 4SW6 -680 Mean: 3CXS-2 -300 80 1
v A2 4S5S4 620 580  4HS5 650 2.0 3 v K9843 5CXS-4-800 -660 4CXS-3 500 4.0 1
+ Q5432 Dif: 30 NS:2 3NN5 660 20 1 + Q652 Dif: 120 NS:-1 5SW5 650 0.0 2
» A654 IMP: 1 EW:-1  3NN4 630 20 2 » 64 IMP: 3 EW:4 5SE5 650 0.0 1
# K43 & Q92 4S54 620 1.0 1 ||s Q86432 & AK95 4SW5 650 0.0 7
v 864 v T95 4HS4 620 1.0 1 ||w 2 — v AQJT7 4SE5 650 0.0 2
¢ T98 * AJ76 3NS3 600 1.0 1 ||e J9 * K743 4SW6 680 -1.0 1
& J873 » QT2 3NN3 600 1.0 3 ||a QJ92 ~ 5CXS-4 800 -40 2
% ¢ VAN 4AJ765 3sS5 200 9.0 1 FOVAN T 5CXS-5  -1100 -10.0 1
N ~~553 v KQJ73 1S5S4 170 90 1||N 1 ~~~~ v 65
8§ ~~553 ¢K S 1~~~~ ¢AT8
E ~~~~~ & K9 E ~~~53 & AKT8753
W ~~~~~ W ~~~53
#7 » QJT6 2DE4 -130 Mean: 2DE4 130 80 2 ||#8 aT3 4SE4 -420 Mean: 3SE4 170 6.0 1
v J863 6CE7 -1390 -470  4CW7 190 7.0 1 v Q987 4SE4 -420 -410  4SE4 420 0.0 13
¢ 854 Dif: 1260 NsS:8 1NE6 240 60 3 ¢ QT752 Dif: 0 NS:0 4SE5 450 1.0 4
& QT IMP: 15 EW:14 1NE5 210 6.0 2 & 83 IMP: 0 EW:0
& A953 a2 1NE7 270 5.0 1 & KJ76 & AQ984
v Q4 + v AK97 3NW4 630 -40 1 ||eT4 v J53
*3 ¢ A9762 5CW7 640 -50 3 ||e A9 * KJ64
& K97642 S » A83 3NW5 660 -50 1 ||a& KJ742 a5
%o ¢ VAN o K874 3NE5 660 -50 2 ¢VAN 452
N ~~~~~ v T52 3NE7 720 60 1[N ~~1 ~~ & AK62
S ~~~~~ + KQJT 6CE7 1390 140 1 ||S ~~1~~ ¢ 83
E 7~~~5 aJ5 E ~~~42 a&AQT9%
W7~~~5 W ~~~42
#9 » KQ5 3CS3 110 Mean: 3NS4 430 80 2 (|#10 4 J75 1NS1 90 Mean: 1NS3 150 3.0 1
v AJ92 3SW-2200 90  3SW-2 200 30 1 v 84 1NS190 60  1NS2 120 20 3
* T94 Dif: -90 NS:1  2NN4 180 3.0 1 + K964 Dif: 0 NS:1  1NS1 90 1.0 1
» 963 IMP: -3 EW:-3 3CS3 110 1.0 1 & QT54 IMP: 0 EW:-1  1NS-1 100 -40 3
s AT8764 » 92 1NS2 120 1.0 1 || K842 & T963
v T4 v K853 2SW-1 100 00 4 ||v QT95 _I_ v AJ7
* J8 + KQ763 2DE-1 100 0.0 1 ||e QT7 ¢ 82
& JT7 & K4 2Cs2 90 00 1 » A9 & J872
o ¢VABN ,J3 1NS1 20 00 1 o ¢VABN 4 AQ
N 3~2~1 ¢Q76 3CSs-1 -50 40 2 [N 23 ~~1 v K632
S 3~2~1 ¢A52 4HN-2 100 50 1||S 23 ~~1 ¢AJS3
E ~~~1~ &AQ852 3CS-2 100 50 2 ||E ~~~~~ » K63
W ~~~1~ W ~~~~~
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#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 NS: FaaBl M (BH0) -19 9 NS: BR<FR $BER(BAC) -15 VP:| 10.77 : 9.23 | Total VP: 50.59 Rank:
EW: BEHESE E5EEI0) 15 EW: &iil55 BRiEF%(BO) 19 IMP:| 21 19 9
___ _
# 11 » AQJ75 4DW-1 50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2NS-2 -200 Mean: 3HS3 140 30 2
v QJT98 5DE-150 60  5DW-3 150 3.0 1 v 764 2SE-150 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: -250 NS:-6 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: -6 EW:-1 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 2SN-2 -200 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 -450 Mean: 4HW-1 50 90 1
v 3HE-2200 70  3HE-2 200 40 1 v Ad2 4HES5 -450 -370  4HE-1 50 90 1
¢ T832 Dif: -400 NS:-7 3CXW-1 200 4.0 1 ¢ T42 Dif: 0 NS:-2 3NE3 400 1.0 4
& A532 IMP: -9 EW:-4 3DS5 150 2.0 2 & A974 IMP: 0 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3CS3 110 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 1NN3 150 120  2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -40 NS:0 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: -1 EW:-1  1NN4 180 2.0 1 » 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE-1 50 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS3 600 Mean: 3NS3 600 12.0 1
v A942 3SS-2-100 -60  1NE-1 50 30 1 v Q5 2SE-3150 -30  2SE-3 150 50 2
+ A93 Dif: 150 NS:3  2SS-1 50 0.0 3 + QJ43 Dif: 450 NS:12 2NS3 150 50 1
& 42 IMP: 4 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 10 EW:-5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 3SXW-2 500 Mean: 7CS7 1440 120 2 ||# 20 a7 6HS-2 -200 Mean: 6HXN6 1660 140 2
v AQ32 3CS7190 750 6CS7 940 50 2 v AKT7 3CN-1-100 580 5HXXN5 1200 120 1
+ QT73 Dif: 310 NS:-6 6CS6 920 50 3 ¢ 6 Dif: -100 NS:-13 5HXN6 1050 100 1
» A9864 IMP: 7 EW:11 6CN6 920 50 3 & AKJ7654 IMP: -3 EW:12 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
1 NS: HtE28E =& GHO) 15 14 NS: ;Kﬂﬁiﬂ ’PHEE(F:BC) -6 VP:| 8.15 11.85| Total VP: 58.74 Rank:
EW: &l EFIBEAC) 6 EW: SRZE% 25 (H0) 15 IMP:| 13 18 10
S — —
# 21 » Q7 4CN4 130 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CN6 420 Mean: 5HXS5 650 11.0 1
v Q7 1NN2120 10  4SE-2 100 3.0 1 v QT87 5SE-2200 100 5CXN6 650 11.0 2
+ AQ64 Dif: 10 NS:3 4CN4 130 3.0 2 *2 Dif: 220 NS:8 5CXN5 550 100 2
& AK982 IMP: 0 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 6 EW:-3 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 o A9765 3CW3 -110 Mean: 3NW-2 200 50 2 ||#24 » J43 1NW-1 50 Mean: 4CXN4 510 8.0 1
v K3 3NW-1100 o0 3NW-1 100 3.0 8 v KQ975 3NS3400 170 3NS4 430 6.0 1
+ K7532 Dif: -210 NS:-3 3NE-1 100 3.0 1 . Dif: -350 NS:-3 3NS3 400 6.0 3
&2 IMP: -5 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -8 EW:-6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN2 110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 2SN2110 80  2SN3 140 20 2 v J9653 6SW6 -1430 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: 0 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: 0 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 4SXN-2 -300 Mean: 2SW-4 200 60 1 ||#28 s Q4 1NN-1 -100 Mean: 1NXN1 180 9.0 1
v 84 3NS-2-100 -60  4DN4 130 50 1 v KQ2 1NN-2 -200 -220 3NW-2 100 80 1
+ AB763 Dif: -200 NS:-6 3SN3 140 50 1 ¢ AJ3 Dif: 100 NS:3  3NE-2 100 80 1
&T5 IMP: -5 EW:1 3CE-1 50 30 1 & QJT76 IMP: 3 EW:-1 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 400 10 1 |[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SS-1 -100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3CW-150 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1-100 60  3HXW-1 200 40 1 v KT7 3NN-2 -100 170  4SS6 480 7.0 1
+ KQ3 Dif: 0 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 150 NS:-3 4SN5 450 7.0 1
» KT8 IMP: 0 EW:4 2SN3 140 20 1 » QT8 IMP: 4 EW:7 4ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
* Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
7 1138 F<F 2ABEEF R e ==> RT 7
1 +
#1: 18 JF35(97.89) #2: 4 JEH (96.97) #3: 15 A F(88.75)
1 NS: #2418 =& GHO) -15 1 O NS: 8l3%7K Z#EI5(BAC) -14 VP:| 8.86 11.14| Total VP: 67.60 Rank:
EW: #r&ill EEIREAC) 14 EW: :BE12 S8R %(I0) 15 IMP:| 29 32 10
— - —
#1 » 54 4SE5 -450 Mean: 6SE-1 50 10.0 1 [|# 2 s AJ8 4SE-2 100 Mean: 4HN5 650 11.0 1
v QT73 4SE5 -450 -410 3SE5 200 50 1 v AQT842 3HN4 170 140  4HN4 620 10.0 1
* 98 Dif: 0 NS:-1 4SW5 450 1.0 1 ¢ TO2 Dif: -70 NS:-1 5SXE-3 500 8.0 1
» 98532 IMP: 0 EW:1 4SE5 450 -1.0 14 & 2 IMP: -2 EW:-1 4SXE-3 500 8.0 1
s T763 & AKQ92 4SE6 480 -20 1 ||a K76 # QT9543 3HN4 170 1.0 1
v 94 v K82 v K5 I v J9 2HE-3 150 0.0 1
¢ KT642 + A53 ¢ AJ54 + Q6 4SXW-1 100 1.0 1
& A7 » K4 » KJ94 & 876 4SE-2 100 1.0 2
®IVABN 4J8 FOVAN 42 4SW-1 50 3.0 2
N ~~~~~ v AJ65 N ~24~2 763 3SE-1 50 30 5
S ~~~~~ * Q7 S ~25~2 ¢ K873 3SE4 470 7.0 1
E ~5~54 &QJT6 E ~~~2~ &AQT53 5HXN-2  -500 -12.0 1
W ~4~43 W ~~~3~
#3 s Q 4SE4 -620 Mean: 4SW-2 200 120 1 ||#4 » T876 3NW-1 100 Mean: 3NW-3 300 7.0 1
v 642 3NE3 -600 -440  3NE-2 200 120 1 v A4 3NW4 -630 10 3NW-2 200 50 4
¢ JT975 Dif: -20 NS:-5 3NE-1 100 11.0 2 ¢ Q7 Dif: 730 NS:3  3NW-1 100 30 7
& AQ54 IMP: -1 EW:4 3NE3 600 -40 5 & AT952 IMP: 12 EW:12 2NW-1 100 30 1
» KJ853 a T6 4SE4 620 -50 1 ||a AJ95 a Q3 2DW5 150 40 1
v T5 v AKJ3 3NW4 630 50 1 ||e KJ7 + v QT63 2DW4 130 40 1
+ AQ3 * K82 3NE4 630 -50 6 ||e AK94 ¢ JT32 1NW2 120 40 1
& T87 » KJ96 3NE5 660 -60 1 ||as Q7 » J84 3NW4 630 120 2
% ¢V AN 4,A9742 * eV AN o KA2
N ~~~~~ v Q987 N ~~~~~ v 9852
S ~~~~~ ¢ 64 S ~~~~~ + 865
E 4~~45 432 E ~44~2 &K63
W 4~~44 W ~44~2
#5 a4 AK86 6HS6 1430 Mean: 6NN6 1440 140 2 [|#6 o KJ763 6CW6 -1370 Mean: 6DW-4 400 16.0 1
v 986 6HS-1-100 520 6HS6 1430 140 1 v 86 3NW4 -630 -1020 3NW4 630 9.0 4
+ AK8 Dif: 1530 NS:14 5HS6 680 40 1 + QT83 Dif: -740 NS:-8 3NW5 660 8.0 1
& AT6 IMP: 17 EW:12 4SS5 650 4.0 1 » 94 IMP: -12 EW:-9 3NE5 660 8.0 1
4 QT5 » J743 4HS5 650 40 1 ||s A4 & Q982 6CW6 1370 -80 7
v5 v 7432 4HN6 680 40 1 ||eT — v AKQ74 6CE6 1370 -80 4
* QJ5 ¢ 7643 4HN5 650 40 2 ||e AK964 'Y
& KJ9754 &~ 2 3NN5 660 40 2 ||~ JT862 » KQ75
o ¢VABN 4,92 4HS4 620 30 1 P OVABN ,T5
N ~~6~6 v AKQJT 7HS-2 -200 -12.0 1 N ~~~~~ v J9532
S ~~6~6 ¢T92 6NN-1 100 120 1 ||S ~~~~~ ¢ J752
E ~~~~~ % Q83 6HS-1 100 120 3 ||E 6 ~~~4 & A3
W ~~~~~ 6HN-1 100 120 1 ||W 6~~~ 4
#7 o 752 4HXW4 -790 Mean: 5HXXE-1 400 110 1 ||# 8 o J75 2NW3 -150 Mean: 3NW-2 100 60 4
w7 5DXS-1-200 -190  5HXE-1 200 90 5 v QJ7542 3NW-2 100 -120  3NW-1 50 50 2
¢ J9873 Dif: -590 NS:-12 5HW-1 100 7.0 1 * K4 Dif: -250 NS:-1  2NW-1 50 50 1
& T873 IMP: -11 EW:0 5DS-1 4100 3.0 2 & Q2 IMP: -6 EW:-6 2NW2 4120 0.0 1
» J63 ~ AKQT9 5DN-1 100 3.0 1 ||a T93 ~ AK8 2NW3 150 1.0 4
v T842 + v QJ9653 2NS-1 4100 3.0 1 ||e AKT v 98 1NW3 4150 1.0 1
¢ T64 . 5DXS-1 200 00 2||e Q93 ¢ J872 2NW4 180 20 1
& 954 S a A2 4HE4 620 -10.0 1 ||& AT96 » K873 3NW4 430 7.0 1
dOeVAN o84 5HXE5 -850 -12.0 1 ¢V AN 4 Q642 3NW3 400 7.0 2
N 34~~1 ¢AK 4HXW4 790 120 1[N ~~1~~ ¢ 63 4HXN-3 500 9.0 1
S 34 ~~1 ¢AKQ52 3HXE4 930 -12.0 1 S ~~1~~ ¢AT65
E ~~44~ &KQJ6 4HXES5 990 -13.0 1 ||E 32 ~~2 &J54
W ~~44-~ W 32~~2
#9 » Q84 4HNG6 480 Mean: 6HN6 980 100 3 ||# 10 4 J53 4HN-1 -100 Mean: 3NS4 630 12.0 1
v AJ9763 4HNG6 480 500  4HS7 510 0.0 2 v AKT75 A 10  2HN3 140 40 2
3 Dif: 0 NS:-1 4HN7 510 0.0 2 + K3 Dif: 0 NS:-3 3DS4 130 30 3
» T852 IMP: 0 EW:1 4HS6 480 1.0 3 » J74 IMP: 0 EW:0 3DS3 110 3.0 1
» J53 s T762 4HN6 480 -1.0 6 ||s QT6 » A9874 2SE-1 100 30 2
v Q85 v 3NS-1 50 110 1 ||v 82 _I_ v QJ93 A 00 1
* KJ652 * AT974 3NS-2 100 -12.0 1 ||e Q987 ¢ 62 5DS-1 4100 -3.0 1
& 94 » K63 & T985 & A6 4HN-1 100 -3.0 1
% ¢ VAN 4AKI FOVAN 4 K2 3NS-1 4100 -3.0 1
N 7~7~2 vKT4 N 443~2 64 4HXN-1 200 -5.0 2
S 7~7~2 +0Q83 S 443~2 ¢ AJT54 4HN-2 200 -50 1
E ~~~~~ & AQJ7 E ~~~~~ » KQ32 3NS-2 200 -50 1
W ~~~~~ W ~~~~~ 3NS-3 300 7.0 1




X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 NS: HtEE =55 GE0) 4 1 1 NS: B8 EER(BAC) 18 VP:| 520 : 14.80| Total VP: 72.80 Rank:
EW: Br&ill EFIREAC) -18 EW: BIS1% FIEF(I0) -4 IMP:| 9 24 12
I
# 11 s KJT74 6NS6 990 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1 50 Mean: 1NXN2 380 100 1
v K75 6HN7 1010 860  6HS7 1010 4.0 1 v AKQT9 1NN-2 -200 -60  1NN1 90 40 1
+ Q6 Dif: -20 NS:4  6HN7 1010 4.0 2 + 873 Dif: 250 NS:3  3NE-1 50 30 5
& AK5 IMP: -1 EW:-4 6HS6 980 3.0 4 » K8 IMP: 6 EW:4 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS5 650 620 4HS4 620 00 10 v 75 4SXE-1100 -20  4SE-1 50 20 9
+ K83 Dif: -30 NS:0 4HN4 620 00 3 ¢ J972 Dif: -50 NS:2 4HW-1 50 20 1
& J983 IMP: -1 EW:-1 3NS4 630 00 2 & 17643 IMP: -2 EW:-3 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 2CN-2 -200 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1HN1 80 Mean: 1NXW-2 500 10.0 1
vT5 1NN2120 50  1NN3 150 3.0 2 v AJT9 1NN2120 50  3NS3 400 8.0 1
* KJ95 Dif: -320 NS:-6 1NW-2 100 20 3 + 963 Dif: -40 NS:1 2SW-1 100 20 1
» A8753 IMP: -8 EW:-2 1NN2 120 2.0 1 » 873 IMP: -1 EW:-2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 » JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 FOVAN 4 KI P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 2sW2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS-1-50 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HS3 140 Mean: 4HS5 650 7.0 2
v Q9 3NS-2-100 © 3CN3 110 3.0 3 v AQJ4 4HS5 650 340  4HS4 620 7.0 3
¢ 9853 Dif: 50 NS:-2 1NS1 90 30 1 + Q65 Dif: -510 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: 2 EW:3 3NS-1 50 20 1 & 87 IMP: -11 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VSN o, Q964 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2HN2 110 Mean: 4SE-2 200 50 1
v A654 4SS4.420 320 4NN5 460 40 1 v A74 2HN2110 © 3HS3 140 40 1
+ AQT Dif: 40 NS:4 3NS5 460 40 2 + K95 Dif: 0 NS:3 4DW-1 100 30 2
& AQT73 IMP: 1 EW:-3 3NN5 460 40 5 & AKJ72 IMP: 0 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 4100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
9 132 EZ2RABERFLB 2 ==> RY 9
1 +
#1: 4 JEH(122.25) #2: 18 [§9£(120.93) #3: 15 FE(113.39)
1 NS: #2418 =& GHO) -15 1 2 NS: Bk = EABNBE(BAC) 45 VP:| 0.00 20.00 | Total VP: 72.80 Rank:
EW: Br&lll EFIREAC) 45 EW: EE ot 157%{E(F0) 15 IMP:| 17 67 15
. —
# 21 » QJT74 4SXN-1 -200 Mean: 6SW-1 50 10.0 1 ||# 22 Iy 3NN3 400 Mean: 3NS6 49 4.0 1
v T42 4HW4 -420 -440  4SXS-1 200 6.0 1 v KJT9854 3NN4 430 360 4SS5 450 3.0 1
* KQ7 Dif: 220 NS:6 4SXN-1 200 60 2 + K3 Dif: -30 NS:1 3NN5 460 3.0 3
* Q9 IMP: 6 EW:-1 4HW4 420 1.0 1 » J842 IMP: -1 EW:-2 4Ss4 420 20 3
A5 a2 4HW5 450 00 1 ||s T83 # 9762 4HN4 420 20 3
v AQJ98 v K653 5HW7 510 -20 3 ||ew A2 — v Q76 3NN4 430 20 2
¢ 432 | o JT SHE7 510 -20 1 ||e J8542 ¢ A97 3NN3 400 1.0 2
& 632 » AK8754 4HW7 510 -20 6 ||& Q93 » K65 3883 140 6.0 1
% ¢ VAN 4 K863 4HE7 510 -20 1 % ¢ VBN 4 AKQJ54 48S-1 50 9.0 2
N ~2~3~ o7 6HW6 980 -11.0 1|IN 3 ~433 3
S ~ 2~ 3~ ¢A9865 S 3~433 ¢QT6
E 5~5~2 &JT E ~~~~~ & AT7
W5~5~2 W ~~~~~
# 23 » 82 5SE5 -650 Mean: 6SE-1 100 120 1 ||# 24 » KT94 5HXS-1-100 Mean: 6DXE-4 800 9.0 1
v 87543 3NE-1100 -570  3NE-1 100 120 1 v AQ43 4HS4 420 390 5DXE-3 500 3.0 1
¢ 874 Dif: -750 NS:-2 5SE5 650 20 1 ¢ 6 Dif: -520 NS:-10 5HS5 450 2.0 1
& T87 IMP: -13 EW:-12 4SW5 650 20 2 & KQJ2 IMP: -11 EW:-1 4HS5 450 2.0 1
» KJ643 a A75 4SE5 650 -20 9 ||s AQJ » 7653 4HS4 420 1.0 8
v Q2 + v AKJT 4SE4 620 -20 1 ||e T82 v 4HN4 420 1.0 1
+ 653 * Q2 3NE4 630 -20 1 ||e Q73 * AJT842 5DXE-2 300 -3.0 4
& QJ3 S » AK96 4SW7 710 -40 1 ||a T865 a A% 5HXS-1 100 100 1
VAN ,QT9 3NW7 720 -40 1 oo VAN 4,82
N ~~~~~ v 96 N ~~4~1 v KJI765
S ~~~~~ ¢ AKJT9 S ~~4~1 ¢ K95
E 5~~52 a542 E ~2~~~ 473
W5~~52 W ~2~~-~
# 25 4 64 3NW3 -600 Mean: 3NW-2 200 10.0 2 ||# 26 s 84 3HW-2 200 Mean: 4SS5 650 80 2
v Q98 3NW-2 200 -280 3NW-1 100 90 5 v Q2 4SS5 650 330 4Ss4 620 7.0 6
+ K876 Dif: -800 NS:-8 3NE-1 100 9.0 1 + 642 Dif: -450 NS:-4 3SS5 200 40 1
& KT72 IMP: -13 EW:-10 4SE4 620 -8.0 1 & AKJT74 IMP: -10 EW:-8 3SS4 170 4.0 1
s AT » Q7532 3NW4 630 -80 3 ||a 52 a QJ7 3HW-2 200 40 1
v A43 v KT7 3NW3 -600 -8.0 6 ||v A9876 _I_ v KT543 28s4 170 -40 3
¢ QT32 ¢ A9 + A95 + Q73 3CN4 130 5.0 2
& AJ96 » Q3 » Q65 »~ 83 48S-1 100 -10.0 1
¢ VAN 4,KJB % ¢ VAN 4 AKT963 2NN-3 300 120 1
N ~~~~~ v J652 N53~41wJ
S ~~~ -~ -~ ¢ J5 S 53~41 ¢ KJT8
E ~3~33 #854 E ~~1~~ %92
W ~3~33 W ~~1~~
# 27 a KT9643 3NE3 -400 Mean: 6HXE-3 500 12.0 1 ||# 28 a2 4HE5 -450 Mean: 2HE3 140 7.0 1
v 4HE-150 -110 4HXW-2 300 9.0 1 v A7 2HE3 -140 -410  4SW4 420 0.0 9
¢ T73 Dif: -450 NS:-7 3NE-4 200 7.0 1 + J864 Dif: -310 NS:-1 4HE4 420 0.0 4
& J862 IMP: -10 EW:-4 2SN2 110 6.0 1 & KQ9853 IMP: -7 EW:-7 4SW5 450 1.0 2
s Q2 ~ A87 4HXE-1 100 50 1 ||a AQJT4 ~ K95 4HE5 450 1.0 2
v KJ63 v QT75 3NE-2 100 50 1 ||v T84 | v K6532
¢ Q52 ¢ AK9 4HE-1 50 40 1 ¢ AT2 + K97
& QT93 » K54 3NE-1 50 40 1 ||as76 s Ad
o O¢VABN ,J5 3HW3 140 1.0 1 B VAN 48763
N ~~~~~ v A9842 1NS-3 150 10 1[N 1 ~~~~ » QJ9
S ~~~~~ + J864 3NE3 400 70 8 (|S 1 ~~~~ ¢Q53
E 2~3~3 aA7 E ~~442 &JT2
W 3~3~3 W ~~442
# 29 » KQJ 3SS-1-100 Mean: 3SS-1 100 100 1 ||# 30 & A852 5CS7 440 Mean: 4NS7 520 20 1
v T7 4HE5 -650 -590  3HES5 200 9.0 1 v J7654 3NS6 490 440  4NS6 490 2.0 1
+ J64 Dif: 550 NS:10 4SXS-2 500 3.0 2 + AK7 Dif: -50 NS:0 3NS7 520 20 1
» KQ987 IMP: 11 EW:2 4HE5 650 -2.0 13 * Q IMP: -2 EW:-2 3NS6 490 20 5
» T864 N a9 4HXES5 990 9.0 1 ||s K4 » T973 3NN7 520 2.0 1
v K982 v AQJ643 v 82 v KQT9 3NN6 490 20 1
32 + + AKTS + JT86432 +5 INN5 460 10 1
& 652 » AT » J9 & 8643 5CS7 440 00 1
% ¢ VAN 4 A7532 o e¢VAN 4 QJ6 4SN5 450 0.0 1
N1~~2~ 95 N 7~457 ¢ A3 5CS6 420 1.0 1
S 1~~2~ Q975 S 7~457 o 4HS4 420 1.0 2
E ~~5~3 &J43 E ~~~~~ & AKT752 4HN4 420 1.0 1
W~~5~3 W ~~~~~ 48S-2 100 110 1




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 NS: #2818 =& GHO) -20 1 6 NS: REIE €5 E(BAC) -11 VP:| 749 : 12.51| Total VP: 80.29 Rank:
EW: #r&il EFIBEAC) 11 EW: BRE0H B3 (BIO) 20 IMP:| 21 28 16
o I o
#1 » KT 4HS-1 -50 Mean: 2HS4 170 50 1 #2 » K872 2SE-1 50 Mean: 3HS3 140 50 1
v T8 4HS-2-100 -20  3CN3 110 40 1 v T43 3NE-150 -50  3NE-2 100 40 2
* KT5 Dif: 50 NS:-1 2HS3 140 40 2 + KJ976 Dif: 0 NS:3 2SE-2 100 40 1
& AJT976 IMP: 2 EW:2 2HS2 110 40 1 & 2 IMP: 0 EW:-3 2HS2 110 40 1
» QJ83 » A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
* J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 4NS-2 -100 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 -620 Mean: 4SW-3 300 7.0 9
v J95 3NN-1-50 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: -50 NS:-2 1NS1 90 40 1 ¢ AJ97 Dif: -920 NS:-12 4SW-2 200 50 1
& AJ93 IMP: -2 EW:0 3NS-1 50 0.0 1 & K92 IMP: -14 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1 ||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ 7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW3 -140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 1HE1 -80 Mean: 3HE-3 300 70 1
v T8653 2SW2 -110 40  3SW-1 50 30 5 v J74 2DW2-90 o0 3NW-2 200 50 1
¢ J8 Dif: -30 NS:-3 2sw2 110 -20 3 ¢ AJ3 Dif: 10 NS:-2 3SE-1 100 30 1
& AJ53 IMP: -1 EW:2 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 2SE3 -140 Mean: 4SE-3 300 110 1 ||#38 s A5 5DS7 440 Mean: 7NN7 1520 110 2
v JT9754 4SE5 -650 -260  2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: 510 NS:3  3NW-1 100 80 2 ¢ 52 Dif: -500 NS:-11 6NS7 1020 00 1
& QJT4 IMP: 11 EW:9 2SW-1 100 8.0 1 & AK76 IMP: -11 EW:2 6NN7 1020 00 2
s Q94 a KJ52 2SE2 110 40 1 ||as T42 ~ J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NN3 600 Mean: 4HXE-4 1100 11.0 1
v A543 2DS7 190 440  3NS7 520 20 3 v QJ4 3NN3 600 510  4HXE-3 800 7.0 1
.87 Dif: 330 NS:2 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 8 EW:6 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 » AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




